O ABER QMM ER VN EELREDWERZ
#iE B HT e #UiE #r e
i =] -2 B G 2E = B
BiZIEH 5= (FFEA) pe (FFEA) Py (FFEA) BiZIEE 5= (FFEA) pe (P HR) Py (R HR)
#iE #iE
THEBEDEBEIS Bt (B4E 80% (FERL 0% TRy -BUBEOBERAEZER 1A (FE ON F OAN T
50% &) 284 271 |1J3E(AED) 334 284 274
E) E ) = E
THBEDBTRAEDOE 100% (FER 100% L 100% FERL
EF 334 284 274
&) i3 &




KRR D

B EBMEEER ARER
g1z
BiZIEE §g<ﬁ%>ﬁf<ﬁ%>§§<ﬁ%>
e

-ZEBED1EBOIBBENFS 1008F Tk 1708F F 1828 Em [EM295E7
R 2% (LR B Z2H5E) fiE] 3}'§¢ fiE] 12'§¢ fiE] 274 |R
E3 E3 E

BE1ALSEYEXRERK 158 Tk 798 FR 88H ERL
BROEE B Lt 33%F 284 214
E E E




